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(2 marks for each )

A. Classify the following numbers into rational or irrational
|.,-=.I'2'r._ %1 Vo - V25 + 416, 7.5, 2. -1.952+%, 2.-15971...}
2

[J;_H Qu'j_‘a_-;J
"

Q/E=3e(@ «/§7z=37rel Jﬁ+«/ﬁ=3€(@

7.5€Q el 4.95+%e@ 245571...€l

B. Solve the following inequalities and write the solution in interval notation ‘Qs_s_ﬂz_z_zgg

6r +1
3

(Ja_‘a'l .;:;.LA] (Jé_u \;,Tj_‘aé]
s ™)

1. 4xr—2<3 GATEYTY ol in] dle I 2. b—(2r—4) <

4x —Z+Z£3+2 (-I- 2)

4x <5=x <2

S5 =X e(—oo,%] (+ 4)

5-2x+4< A9 -2x <24
27 —6X <bXx +1=-12x <-26

[l ;:T;L.A)
fu ™)

IXI<|al
Ol o 5

3
= -3<2X -1<32-2<2x <4
= 2<X <3 -1<x <2

5.55-1,2]

J(22)7 <5-4 2| <1

1 1

—92 — 2
=T < m _2‘:>|x |<|x —1to

=(x-2)*<(x-1)°=

— K% ax +4= X7 —2X +1

—2X <—3=>X =3

2

5.5 =(g,2)u(2,oo)

0583422200
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z* + 4z + 4

5.

E=—peey

|
|
|
|
|
|
|
X(x =) (=1 _ 4 D i H)i—qus
(x +2)(x +2) | - N
X =0,x =1 E x|-1>3 x|-1<-3
OO OO OO ¢ | x[>4 x| < -2
(-)-) B B ‘ (H)) ! X>4 or Xx<-4 $S=4¢
- B t++ 44+ :
|
—2 0 1
5.5 =[0,00) - ss=(o4]u[4,0)

estiorm 2

A- Find the domain of the following functions

1. flx)=9—(z-1)* —-—-

(J_\;.L»EIJL;]

D, = (—o0,00)because (pol)

(J_q.g&;.};;]

1-26 >0 | 1-I=2x =05 Vi=2x =1
X

X <3 11-2x =1=X =0
2 f{z}=2+mes:c i
2+cosx =0 4. f{z}:Jl+|_«:|+.{fIz_,1
X =05 (-2) = -2 ¢[-1]]
no s.sVxelR
D, :R:(—oo,oo) 1+[x|20=|x|>-1

ss=R
D, =R

== - ss=(=0)u(04]
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B- Determine whether the functions

r—1 Nz —1

flxr) = E—E*H[I]:‘JE:

are the same or not.

Domain 2> s (1)

x -1
D, "3-x =0 D,:x-120 3-x>0
A ) 1) =X 21 X =<3
0o ©) + + -
-— 4+ - l
[ < P
)1 (D 3 G '+ 3
D, ~[13) D, =[1.9)

:simplify il (2)

_\/x—l_ L _ .
g(x)_\/B__X_\/a__X_f(x),‘v’x eD; nD,
O D, =D,

(f =g

(*) F and g are the same
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Let f(z) =
T— 5
1. Find DJ,.

2. Show that [ is one-to-one.
3. Find f'.
4. Find the range of f.

1. Find ﬂl. '
' [ NG | R [ SN '
N

' [ N | R [ PN I
S

let f (x,)=f (x,)vx,,x, e R-{5}

D, :X-5=0=Xx =5

|
|
|
|
|
: X1+4 Xo+4
| X1-5 X2_
D, :]R_{5} i 15 X2-5

| X1—5+9=X 2—5+9=:>/1/+ 9 :1_‘_ 9
: X1-5  X2-5 X1-5  X2-5
|
|
| L = 8 =X, B =X, 5
| X;,—5 X,-5
|
: X, =X,
| .

‘ .:ATEH':..J‘??_-E;HEJ_S I : f |S(1—l)
|
|

i i ;_J ' 4. Find the range ot | . |

E=eoey E=prey

F(x)is(1-1)
out f(x)=x,x=f"(x)

f(x) @ada

Tl A A0350( ) )

|
|
|
|
|
|
|
|
|
|
|
|
|
| =
: Rf =Df = (Y)
|
|
|
|
|
|
|
|
|
|
|
|
|
|

1
=R o ) -5 = (1) 44
Foi)- 5x + 4
_ fi(x) =
(x-1)f*(x) =5x +4 x —1
BX +4 X-1=0=> x =1
fAx)=—¥ xeR-{l
( ) v _1 {} Rf =Df_1=R—{1}
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C=dhn =
R
Let f(a) =7 —1, gl) = ——

r—2
1. Find (f- g)(x) and its domain.

2. Find [%){:zj and its domain.

3. Find (f o g)(x) and (g o f)(z).

1. Find (f - g)(x) and its domain.

D, :x’-1>0=x?>1=Jx2 241 D, :x-1=0=x=1
X[>1=x>1 or x<-1 D, =R—{2}
D, =(—oo,—1]u[1,oo,)

D(f 9) =D, ng z(—oo,—l]u[l,Z)U(Z,oo)

2. Find (£)(z) and its domain.
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I} nestion &

A. Let ¢» be an angle in standard position, its arc length 110 cm, and the diameter of the circle is 40 cm.

Determine the angle in ¢ degree, if the rotation is clockwise.

L3
[ SN | RS S SN
(e

p=503—_110e 0

2ar

=-315°7"43"

B. Use reference angles to find the exact value of the following:
1. cos(2107)

L _cos(210 ) ' (;—#ﬁgﬁéj
0'=210"-180 °=30° | €0s210 °:cos(]:8(i°+30°) 20
c05210 "= —c0s30 =& | =-Cos(30°)=-% - X

210,

‘ COATENTY oo Jlsa Jinll dilae I

s

sin(-3) =—sin(%)

(9 27T———T
glost_goc = —sin(X - )
J2

sin(—%”) = —sin(z) =L =-sin(g)=-7
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DJuestion 7

Find the exact value of the following, without using calculator:

1. sin” (sin(3)).
2. cos(sin(§) + tan”'(3}))

D

sin sin(22) =sin sin(f +£)
=sin “[-sin(z) J=sin (~2)i—Le[-11]

|

__z|[_z z
B 4E 212
2. cos(sin '{i)-lrta.n ILTIJJ' ‘ A |5 sl dilae I
Yy
-
b cos(sin(2)) =2
3
3/ 12 o : costan ~( i 3 X
X sm(sm (5)):5 sintan *(-1) == N_l
,,»\/10

1 JE

cosféin (2)+tan (- )} cos(A+ B)

=cos{sin*(2)) costan ;}rﬁwsm tan”

2,21 _ 3\5+2 _ 15\2+2410

T%3f NEEL E a
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Solve the trigonometric equation

1-2sin*x =sin x ‘ COATEYYY oL i ial diae l

2sin*x +sinx-1=0
(2sinx-1)(sinx+1)=0

SS:{E 57 137 17z 3rx 7%}
: 6’ 6" 6" 6 1" 212







